SH06EE (BRI £ LFA-EERUVIRINEHE -4 (01/10)F T

MERINETEILL % D7 (3 £ B - BE A 52,5008/ B)E L % T RERIN%%
(AL - TR

LA @ie |11 1213 1415 1/6] 177 1/8 | 1791710 it T P i s
HEPE S -2,319

BF)I |« 202 202

f&uf | FHE DS 2,500 2,500 2,500 @
FRIRE 181 181 181 7

EBF)| | e bk

12/31 32 | stEmn g
2 JLES
HEPE S -5,880

& JNE=S

12/31 i | FHEsRE 5,880 5,880 5,880
2 JLES

FEI

12/31 32| & b5k
HEPE S 1,106 1,106| -9,670

TRF | ek 3,183 42 40 9 91 3,274

1/10 32 |&tER% 15,370 15,370 15,370 37
FRIRE 5,644 56 56 5,700 5,700 37
HEPE S -2,308

TR | 2 Eig 140 140

12/31 i | EsRE 2,400 2,400 2,400 4)
FRIRE 92 92 92 4
HEPE S 224 224 -2,188

BAF)I| |2 Lo 39 39

12/31 i | FHEsR % 2,734 2,734 2,734 (20)
HRIE 546 546 546 20
(ER2)
HEPE S -981

INAS)N] |2 ks 1,429 20 3 2 25 1,454

1/8 Y2 |&tELR%k 2,500 2,500 2,500 (61)
FRIRE 1,487 32 32 1,519 1,519 61
HEPE S -1,797

B (=g 636 19 20 7 46 682

1/10 32 |&tER%K 2,446 2,446 2,446 27)
FRIREK 594 15 25 15 55 649 649 27
HEPE S -1,845

H#E)I| =Lk 861 6 6 867

1/4 Y2 |EtELI%K 2,565 2,565 2,565 (28)
FRIRE 720 720 720 28
WHEPE S -1,529

AR 1,127 7 1 8 1,135

1/6 32 |atEsn% 2,103 35 35 35 35 35 35| 35 35 35 35 350 2,453 2,453 (38)
FRIRE 913 8 3 11 924 924 38
HEPE S -7,536

B |t g 2,294 157 53 45 39 294 2,588

1/10 32 | FHEDR% 8,875] 180 18| 18o[ 18| 180[ 180 180| 180  180| 180 1,800 10,675 10,675 (29)
FRIRE 1,980 154 37 64 48 303 2,283 856 3,139 29
HEPE S -2,262

EG RS =S 207 207

12/31 i | FHEsR % 2,400 2,400 2,400 (6)
FRIRE 138 138 138 6
HEPE S -1,604

ey IR 1,016 42 24 14| 11 11 9 9 120 1,136

1/10 2 |stEmngg 2,341 1 1 i3 1 11 11 11 11 11 1 114 2,455 2,455 (35)
FRIRE 723 60 20 23 25 128 851 851 35
WHEPE S -2,494

KEB)I| | = LsE 45 6 6 51

1/10 32 | FHEDR% 2,450 5 5 5 5 5 5 5 5 5 5 50 2,500 2,500 0
2 JLES 6 6 6
HEPE S

INGE)N| | = kg

12/31 32 | stEmn g
£ JES




_2_

(AL - TR

LA N RV RV ARV RV ARV ARV ARVO ARV SRV R RVAT) 3 B |mETE | | e
HHPE $ -2,132
BT | e e 491 491
12/31 32 | F B 2,400 2,400 2,400 an
RE 268 268 268 11
HHPE $ -2,709
7)1 |2 b 752 3| 10 2| 11| 10 6 7 49 801
1/9 32 |stEmmsg 4035 | ul  u| owl u| o owl v w| o on| 110 4,145 4,145
RE 382 6 6 8 10 5 35 417 1,019 1,436 35
HHPE $ -1,764
F B |2 bss 304 304
12/31 32 | A B 2,000 2,000 2,000 (12)
RE 118 118 118 236 12
=500
RRUEF)I| |2 kot 286 286
12/31 Y2 | FHEBR%k 500 500 500
RE 118 118 -118
HHPE $ -2,283
Hi)ll |z xm 85 85
12/31 Y2 | FHEBR%k 2,300 2,300 2,300 (M
L 17 17 1 1
)| |2 s
12/31 Y2 | FHEBR%k
L
BRI | e LR 165 165
12/31 Y2 | FHEBR%k
L
HEPE $ -6,369
B Il |eexm 515 515
12/31 32 | A B 6,700 6,700 6,700 (5)
RE 331 331 331 5
HHPE $ -3,502
KA | = ks 4,966 7 7 4,973
1/732 |EtER 8,400 8,400 8,400 (58)
R 4,898 4,898 4,898 58
HHPE $ 1,330 1,330] 61,672
5 |ekum 18,743] 45| 10 275 2| 82| 48| 104| 16| 170 652 19,395
1/10 32 |&HELRI% 80,899 242 242 242 242 242 242 242 242 242 242 2,424 83,323 83,323 (26)
R 19,156 6 325 66| 33| 97 5 88 620 19,776 | 1,875 21,651 26




